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underestimate, increase-decrease
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<Example>

F0{Zl =: The apple is rotten. A boy didn't know it was rotten. So, he ate the

apple.

(A) The boy was sick. He had a stomachache.

(B) - the treatment in - he was cured.
© - the rotten apple, the poor boy went to -
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<Example>
O El 2% Writing a essay was too hard to her.

Mr. Ken gave his student some homework to write essay. (1) Sally was gloomy by
the homework that her teacher gave to her. (2) But however, she was gloomy, had

to finish it. (3) So, she must concentrate to do the homework.

Of oAl 20 2 MX| H=2E AO|0f =1 250] &HA| fe X2 1HEO|
Ch. 0|8 o= =28 oA E MH=HE g4 S

—

-R9%ES MAN Ei S0{7tM X|20| otdXt ot= EE Ol2| &1 7t= Ao

rir
O

-T2 X2 &€ F=20 Eol tiet Hint7h BCf



|_|_”_LI

N o] . olo <+ o i ot {0 Jo
e o il o3 o KO I m g B
i " ol = 0 R0 Ao o
—_ _u_n_ _I_|_ K -_-— - IT_Al -~
[} m. <F o ol X o OH gl
= -
® = q oW Oy ZmW
0lo T oR - ) CEE PR
T N — jod
. Au N[ = Th - © (S -
] ol o < = _ =
o I AY s o H a2 R H  ofo
T L o RC oo m@ ou N B ER m
o O Y o= P m > B Y
R B O S sHd °g - W o
A3 da = U o0 g opp M B & kio
-  OH . kiio N3 oju = K K < O 0 =
TR = <0 < oK L L o < & 1M
ok © H = A o0 Qo <
S T - ol H = @7 Ll | Y SV V. |
= | U = —h1 3 gy N = oo . Ho dM
on = = Ri I = T o IR I - Y
N EIL 1 ._OO - - o < u..Au —_ O__._._ n _n_._ Ol_ 10
K =< 30 oy N N = 0 - — O
R K s ol = H I 7 ofo K - X
o M = ™ T R - A T
A mo T naJ K ol U o = —
o C oo & ©° 1 % 5 = D
—_— — K o ~ 0o 11 ol m — = ol oi K
L_L M o - — il L_I Ol_n i I_I__I — ol _.__=._ = L_|_ |__|_
WT M_ i _ m& < o %o s = = ___/___ H " X =
ok o — _ 3| [SIEN Ji N on TR ©
K = —, o = T N O jo o 9o —
TR 2 a3 mo o K Kk < o 4 Mg o0
R OO c Ko o o ol T o7 S oop ko f{ &~ 2
L) o X =R M o NAs o A
o i @ »ow o En Mo - ;A
Mr F 3 %0 = A/ e ol U o = K H N -
® o A .o 2ok ¢ N 2 2 & uu RU L3 L o oo ©
— A E o0 ST Huo o H = — ol o 2 ~ o
of o &~ th by R o = = > = 1 = X g of ® B[Fa e
L T Y ~ o of W gy op ) T o < X
g 9 b U ) 5 g o™ Awtr _Fad
Y S o ¢ I o oG8 * N i I TS



